Lacrymosa

(Fl'om the "Requfel\ﬂ", <. 626)

Music: Wolfgang Amadeus Mozart
Tabbed by: Dallas Blackwell

Mr. Blackwell gives us a darn fine (actually, downright impressivel) two-quitar arrangement below. Please note
the slight difference in tuning between guitars 1 & 2. Scott Nygaard has a set of variations on this theme for
one guitar in the September 2007 issue of Acoustic Guitar.

Time Signature: 12/8
Tuning: Gtr. 1 EAC#GBe Gtr. 2 EADGBe

Additional information: Guitar 1 is playing the Soprano and Alto voices.
Guitar 2 is playing the Treble line. One of the Basses will be playing the
bass line and the other will play the Bass voice line.

Items optional: Chourus sound, Orchestra sound for guitar 2 and
bass 2(strings), and a Bass octave pedal.
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